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Event #738 - occurred on 2019/01/04 at 06:00:48 - ML:3.1 - RHYP:6O.4 km - PGACK0:2.4 cm/s?
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Event #739 - occurred on 2019/01/07 at 06:06:26 - ML:3.3 - RHYP:59.6 km - PGACK0:1.7 cm/s?
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Event #740 - occurred on 2019/01/07 at 10:06:52 - ML:3.9 - RHYP:94.5 km - PGACK0:1.6 cm/s?
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Event #741 - occurred on 2019/01/10 at 17:30:15 - ML:4.4 - RHYP:%.G km - PGACK0:3.6 cm/s?
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Event #742 - occurred on 2019/01/11 at 18:54:09 - ML:4 - RHYP=68.2 km - PGACKO=1.6 cm/s?
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Event #743 - occurred on 2019/01/12 at 12:35:16 - ML:3.6 - RHYP:73.6 km - PGACK0:1.6 cm/s?
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Event #744 - occurred on 2019/01/12 at 20:40:35 - ML:3.9 - RHYP:63.2 km - PGACKO:Z.Q cm/s?
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11- _ _ _ 2
occurred on 2019/01/15 at 01:11:49 - ML—4.2 - RHYP—19.6 km - PGACKO—73.6 cm/s

Event #745 -
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Event #746 - max reccorded on 2019/01/17 at 06:48:30 - no association with catalogue - PGACKO=1.5 cm/s?
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Event #747 - occurred on 2019/01/17 at 21:46:39 - ML:4.3 - RHYP:6O.5 km - PGACK0:7.4 cm/s?
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Event #748 - occurred on 2019/01/18 at 00:47:23 - ML:3.7 - RHYP:6O.6 km - PGACK0:1.2 cm/s?
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Event #749 - occurred on 2019/01/18 at 09:48:04 - ML:3.8 - RHYP:59.7 km - PGACK0:2.8 cm/s?

Z [emis?]

noise

ASD [ (cm/s2)/Hz1? ]

1 . . . . 104 . .
0.6
102
0.4
0.2
109)
0 alb.
T
0.2 2
10 Xr=o =
-0.4 —s/ 0~ -
0.6 10
0.3
102
0.2
0.1
109)
0
0.1
02 1072 -
03 LCm el
0.4 104
0 100 200 300 400 101 10° 10t 102
Time [s] Frequency [Hz]

SIN

104
10? 4 S

7 N
10° e
10*
IS N
100 \_
104
1 ://JIM \\

N
10° S
104
. AN
J

7’-’ AN
10°) N
104

N\

7~ \
10° \—1
104
N4 N\

ol A\Y
10°

10t 10° 10t

Frequency [Hz]



CKO

CK6

CK15

CK40

CK83

CKWP

0.4

0.5

Event #750 - occurred on 2019/01/18 at 11:55:28 - ML:3.7 - RHYP:61.1 km - PGACK0:2.3 cm/s
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Event #751 - occurred on 2019/01/18 at 12:59:56 - ML:3.6 - RHYP:6O.9 km - PGACKozl.G cm/s?
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Event #752 - occurred on 2019/01/19 at 01:29:12 - ML:2.8 - RHYPZZO.O km - PGACK0:6.8 cm/s?
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Event #753 - occurred on 2019/01/19 at 16:45:35 - ML:3.9 - RHYP:61.4 km - PGACK0:4.6 cm/s?
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Event #754 - occurred on 2019/01/19 at 17:42:00 - ML=4 - RHYP=80.3 km - PGACK0:10.6 cm/s
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Event #755 - occurred on 2019/01/20 at 10:39:22 - ML:3.8 - RHYP:56.5 km - PGACK0:3.2 cm/s?
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Event #756 - occurred on 2019/01/20 at 10:43:59 - ML:3.8 - RHYPZSG.G km - PGACK0:4.0 cm/s?
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Event #757 - occurred on 2019/01/21 at 14:23:30 - ML:3.6 - RHYP:64.8 km - PGACKozl.G cm/s?
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Event #758 - occurred on 2019/01/21 at 18:16:58 - ML:3.9 - RHYP:61.4 km - PGACK0:3.0 cm/s?
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Event #759 - occurred on 2019/01/22 at 21:30:50 - ML:3.8 - RHYP:6O.4 km - PGACKO:Z.Q cm/s?
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Event #760 - occurred on 2019/01/23 at 09:40:36 - ML:3 - RHYP=78.2 km - PGACKO=O.2 cm/s?
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Event #761 - occurred on 2019/01/23 at 09:41:59 - ML:3.3 - RHYP:58.5 km - PGACKozl.O cm/s?
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Event #762 - occurred on 2019/01/25 at 22:53:24 - ML:3.9 - RHYP:59.1 km - PGACK0:3.3 cm/s?
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Event #763 - occurred on 2019/01/28 at 01:07:30 - ML:3.5 - RHYP:6O.2 km - PGACKO:Z.Z cm/s?
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Event #764 - occurred on 2019/01/31 at 13:37:02 - ML:3.7 - RHYP:101.0 km - PGACKO=2.1 cm/s?
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Event #765 - occurred on 2019/02/01 at 05:02:00 - ML:3.9 - RHYP:47.3 km - PGACKO:G.Z cm/s?
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.ne- _ _ _ 2
occurred on 2019/02/02 at 12:05:37 - ML—2.5 - RHYP—ZO.O km - PGACK0—4.5 cm/s
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Event #767 - occurred on 2019/02/03 at 06:08:32 - ML:3.8 - RHYP:62.3 km - PGACK0:1.2 cm/s?
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Event #768 - occurred on 2019/02/04 at 05:52:10 - ML:3.8 - RHYP:63.2 km - PGACK0:2.8 cm/s?
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Event #769 - occurred on 2019/02/05 at 02:26:09 - ML:5.2 - RHYP:91.8 km - PGACKO=12.4 cm/s?
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Event #770 - occurred on 2019/02/05 at 09:41:07 - ML:2 - RHYP=20.8 km - PGACKO=2.1 cm/s?
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Event #771 - occurred on 2019/02/07 at 10:49:19 - ML:2.2 - RHYP:26.1 km - PGACKO:Z.O cm/s
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Event #772 - occurred on 2019/02/07 at 21:08:53 - ML:2.9 - RHYP:21.1 km - PGACK0:4.0 cm/s?
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Event #773 - occurred on 2019/02/08 at 17:24:11 - ML:2.1 - RHYP:25.9 km - PGACKO:Z.O cm/s?
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Event #774 - occurred on 2019/02/12 at 14:22:03 - ML:3.4 - RHYP:67.5 km - PGACK0:1.2 cm/s?
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Event #775 - occurred on 2019/02/16 at 01:57:15 - ML:3.9 - RHYP:56.4 km - PGACK0:3.3 cm/s?
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Event #776 - occurred on 2019/02/17 at 15:30:50 - ML:2.7 - RHYP:24.7 km - PGACK0:2.7 cm/s?
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Event #777 - occurred on 2019/02/17 at 15:44:05 - ML:2.3 - RHYP:23.2 km - PGACK0:3.3 cm/s?
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Event #778 - occurred on 2019/02/24 at 10:41:24 - ML:3.9 - RHYP:79.9 km - PGACK0:2.3 cm/s?

Time [s]

04 Z [cm/s?] ASD [ (cm/s2)/Hz1? ]
’ 102
z
E
109) N
1072
=
oo
0.4 10
1 . . . . . .
102
05
109)
0
102 S~ ”_5“‘
05 Ve o
1 . . . . 104
1 . . . . . .
102
05
10°
o et
10.2 7 ’:.‘—
05 =
1 . . . . 104 . .
1 . . . .
10?
0.5
10°
0
-2|
05 10 Voo L —
4 . . . . 104 . .
05
102
109)
.
0 o
-2|
10 —~ "~~~
~ \ — ~
0.5 10
0.4
102
0.2
109)
0 b
1072
02 <
‘\\-\’-_,-._-_.—‘
0.4 104
0 100 200 300 400 10t 10° 10t

Frequency [Hz]

SIN
Vil
10° L7 \sﬁ
10 f4/ (\
10
M\
pra N\
10°) X \——-
102 P’%\r\
/ N\
N
10°) f" \-——
T
10° & \'_!
107 A N
Az AN
=Y
10° 4 ¥

Frequency [Hz]



CKWP

CKO

CK6

CK15

CK40

CK83

Event #779 - max reccorded on 2019/02/24 at 11:21:00 - no association with catalogue - PGACKO=1.9 cm/s?
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Event #780 - occurred on 2019/02/26 at 20:55:12 - ML:3.2 - RHYP:41.7 km - PGACK0:4.8 cm/s
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Event #781 - max reccorded on 2019/02/26 at 21:06:10 - no association with catalogue - PGACK0=2.5 cm/s?
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Event #782 - max reccorded on 2019/02/28 at 12:40:30 - no association with catalogue - PGACK0=6.O cm/s?
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Event #783 - occurred on 2019/02/28 at 20:09:27 - ML:4.4 - RHYP:71.1 km - PGACKO:G.S cm/s?
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Event #784 - occurred on 2019/03/02 at 19:22:57 - ML:2.2 - RHYP:16.4 km - PGACK0:3.5 cm/s?
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Event #785 - occurred on 2019/03/11 at 01:20:55 - ML:2.9 - RHYP:67.7 km - PGACK0:1.5 cm/s?
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Event #786 - max reccorded on 2019/03/11 at 16:41:00 - no association with catalogue - PGACKO=1.4 cm/s?
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Event #787 - occurred on 2019/03/12 at 00:47:15 - ML:2.5 - RHYP:21.2 km - PGACK0:1.5 cm/s?
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Event #788 - occurred on 2019/03/16 at 01:25:54 - ML:2.7 - RHYP:22.7 km - PGACK0:3.9 cm/s?
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Event #789 - occurred on 2019/03/16 at 14:52:24 - ML:3.7 - RHYP:70.9 km - PGACK0:1.9 cm/s?
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Event #790 - max reccorded on 2019/03/16 at 23:11:10 - no association with catalogue - PGACK0=5.9 cm/s?
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Event #791 - max reccorded on 2019/03/16 at 23:16:40 - no association with catalogue - PGACK0=2.4 cm/s
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Event #792 - occurred on 2019/03/17 at 11:49:39 - ML:4.5 - RHYP:7O.1 km - PGACK0:2.8 cm/s?
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Event #793 - occurred on 2019/03/22 at 08:11:39 - ML:3.2 - RHYP:39.8 km - PGACK0:1.9 cm/s?
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ASD [ (cm/s2)/Hz1? ]
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Event #794 - occurred on 2019/03/25 at 06:21:07 - ML:3.9 - RHYP:6O.1 km - PGACKO:Z.O cm/s?
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Event #795 - occurred on 2019/03/26 at 13:45:04 - ML:2.4 - RHYP:16.3 km - PGACK0:4.1 cm/s?
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Event #796 - occurred on 2019/03/30 at 05:47:55 - ML:3.6 - RHYP:55.7 km - PGACK0:4.0 cm/s?
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Event #797 - occurred on 2019/03/30 at 10:46:18 - ML:5.3 - RHYP:158.7 km - PGACKO=3.4 cm/s?
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Event #798 - occurred on 2019/03/31 at 23:22:46 - ML:3.7 - RHYP:53.O km - PGACK0:1.4 cm/s?
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Event #799 - occurred on 2019/04/03 at 04:34:36 - ML:2.1 - RHYP:16.1 km - PGACK0:1.5 cm/s?
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occurred on 2019/04/04 at 03:06:32 - ML—3.3 - RHYP—13.4 km - PGACKO—52.7 cm/s
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Event #801 - occurred on 2019/04/08 at 16:30:21 - ML:2.4 - RHYP:]'G'G km - PGACK0:3.6 cm/s?
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Event #802 - occurred on 2019/04/08 at 21:56:56 - ML:2.2 - RHYP:15.3 km - PGACKO:Z.Z cm/s?
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Event #803 - occurred on 2019/04/09 at 00:20:09 - ML:2 - RHYP=13.8 km - PGACKO=2.O cm/s?
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0.8

Event #804 - occurred on 2019/04/13 at 06:36:51 - ML:2.3 - RHYP:17.3 km - PGACK0:2.7 cm/s?

Z [emis?]

ASD [ (cm/s2)/Hz1? ]

1 : : : : .
10?
0.5
10°
0
1072
05 ¥ [ = o~ = -~
=
1 . . . . . 107 A A
0.4
102
0.2
109)
0 "o
1072
0.2
0.4 10
0.6
102
0.4
0
0.2 10
0
1072
0.2 z
PN S o = T
0.4 104
0 50 100 150 200 250 10! 10° 10t 102
Time [s] Frequency [Hz]

SIN

104

104

Frequency [Hz]



CKWP

CKO

CK6

CK15

CK40

CK83

Event #805 - occurred on 2019/04/16 at 01:04:56 - ML:3.9 - RHYP:54.8 km - PGACKO:Z.O cm/s?
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Event #806 - occurred on 2019/04/17 at 15:15:25 - ML:3.7 - RHYPZSG.G km - PGACK0:1.2 cm/s?
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Event #807 - occurred on 2019/04/17 at 15:17:08 - ML:3.9 - RHYP:62.2 km - PGACKO:Z.Z cm/s?
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Event #808 - occurred on 2019/04/17 at 19:27:44 - ML:3.8 - RHYP:59.6 km - PGACK0:1.6 cm/s?
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Event #809 - occurred on 2019/04/18 at 09:25:31 - ML:4 - RHYP=63.9 km - PGACKO=1.5 cm/s?
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0.3

Event #810 - occurred on 2019/04/18 at 13:46:57 - ML:3.5 - RHYP:59.O km - PGACK0:3.5 cm/s?
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Event #811 - occurred on 2019/04/23 at 22:52:10 - ML:2.4 - RHYP:]'G'G km - PGACK0:2.4 cm/s?

05 Z [cm/s?] ASD [ (cm/s2)/Hz1? ]
’ - 102
noise z
signal E
109) N
0
2 P
10 D) f -
-_
= ~ ~ e
0.5 10
15 - : : : : . .
102
1
0.5
109)
0 -
0.5 1072
-1
15 . . . . . 10
0.6 - : : : : . .
102
0.4
0.2 10°
0 ol pot
-0.2 ~
0 107 —_———~ =
—
0a —_
06 . . . . . 107 A A
1 : : : : .
10?
0.5
10°
0
1072
- 7.
05 - T~ =3 :
1 . . . . . 104 , \
0.6
102
0.4
02 10°
0
1072
0.2
0.4 10
0.3
102
0.2
0.1
109)
0
0.1
02 1072 P
z
0.3 ~ e
0.4 104
0 50 100 150 200 250 10! 10° 10t 102
Time [s] Frequency [Hz]

SIN

104
A

o/ s
10°
10*
T 7

~ \\
10° / S
104
10 /_/ \—\_,\

/ N\

10° / S
104
. /um\_\

7 \
109 \-
104
10?

4/ A\
109 _I/ ‘\1
104
102

Z/ A\
10° /

107 10° 10t 102

Frequency [Hz]



CKWP

CKO

CK6

CK15

CK40

CK83

0.4

-0.4

0.5

Event #812 - occurred on 2019/04/24 at 04:07:02 - ML:2.4 - RHYP:23.1 km - PGACK0:1.5 cm/s?
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Event #813 - occurred on 2019/04/27 at 03:53:41 - ML:3.3 - RHYP:89.6 km - PGACK0:1.7 cm/s?
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Event #814 - occurred on 2019/04/27 at 15:07:58 - ML:4.3 - RHYP:70.5 km - PGACK0:2.4 cm/s?
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Event #815 - occurred on 2019/04/27 at 23:25:57 - ML:3.9 - RHYP:64.O km - PGACK0:2.7 cm/s?
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Event #816 - max reccorded on 2019/04/30 at 22:17:30 - no association with catalogue - PGACKO=1.8 cm/s?
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Event #817 - occurred on 2019/05/01 at 10:16:59 - ML:3.5 - RHYP:6O.5 km - PGACKO:Z.O cm/s?
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Event #818 - occurred on 2019/05/10 at 03:03:15 - ML:2.2 - RHYP:16.1 km - PGACK0:7.0 cm/s?
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Event #819 - occurred on 2019/05/10 at 07:00:04 - ML:2.3 - RHYP:16.4 km - PGACKO:Z.Z cm/s?
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Event #820 - occurred on 2019/05/13 at 16:57:17 - ML:4.7 - RHYP:86.5 km - PGACK0:4.9 cm/s?
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Event #821 - occurred on 2019/05/14 at 15:07:59 - ML:3.8 - RHYP:32.7 km - PGACKO:Q.O cm/s?
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Event #822 - occurred on 2019/05/17 at 20:47:20 - ML:3 - RHYP=57.4 km - PGACKO=1.6 cm/s?
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Event #823 - max reccorded on 2019/05/21 at 20:20:00 - no association with catalogue - PGACKozl.l cm/s?

06 Z [cm/s?] ASD [ (cm/s2)/Hz1? ]
’ 102
z
E
109) N
1072
0.8 10
05 - : . . . . .
102
109)
o :
-_——l
102 ~ N~ =L
i
-
-
05 . . . . . 10
0.3 - : . . . . .
102
0.2
0.1 10°
0
0.1 2
10 e~
-
-0.2 -
03 . . . . . 104 . .
1 : . . . .
10?
0.5
10°
0
1072
05 LGN
~ —
1 . . . . . 104 . .
0.15
102
0.1
0.05
0 ot L 107
0.05
0.1 107
0.15
0.2 10
0.3
102
0.2
0.1 109)
o | | | "
0.1 102
4
02 ho ol e e
0.3 104
0 50 100 150 200 250 101 10° 10t 102
Time [s] Frequency [Hz]

SIN
104
Yl A\
10° J \
10*
102 ::
10° LJ \
104
10
/NN
/ N
10° -\/ ]
104
102 m/_/’\v \
[T \
100 v N\
104
10?

AN
10° y \-1
104
102 —\\

- A\Y
10°
10t 10° 10t 102

Frequency [Hz]



CKWP

CKO

CK6

CK15

CK40

CK83

Event #824 - occurred on 2019/05/29 at 23:54:19 - ML:3.8 - RHYP:59.4 km - PGACK0:4.5 cm/s?
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Event #825 - occurred on 2019/06/06 at 12:50:02 - ML:3.6 - RHYP:48.7 km - PGACK0:2.3 cm/s?
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Event #826 - occurred on 2019/06/08 at 07:52:52 - ML:1.6 - RHYP:21.9 km - PGACKO:Z.l cm/s?
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Event #827 - occurred on 2019/06/08 at 07:54:32 - ML:1.4 - RHYP:19.6 km - PGACKO:O.Q cm/s?
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Event #828 - occurred on 2019/06/08 at 07:56:29 - ML:2.2 - RHYP:17.7 km - PGACK0:5.3 cm/s?
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Event #829 - occurred on 2019/06/09 at 07:06:08 - ML:2.1 - RHYP:22.9 km - PGACK0:1.4 cm/s?
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Event #830 - occurred on 2019/06/11 at 01:19:02 - ML:2.1 - RHYP:15.6 km - PGACK0:3.0 cm/s?
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Event #831 - occurred on 2019/06/13 at 20:18:17 - ML:2.2 - RHYP:19.8 km - PGACKO:Z.S cm/s?
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Event #832 - occurred on 2019/06/15 at 09:11:50 - ML:2.4 - RHYP:19.9 km - PGACK0:1.6 cm/s?
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Event #833 - occurred on 2019/06/17 at 19:45:24 - ML:2.2 - RHYP:14.8 km - PGACK0:2.3 cm/s?
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Event #834 - occurred on 2019/06/18 at 17:23:31 - ML:2.3 - RHYP:21.9 km - PGACK0:2.3 cm/s?
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cof- _ _ _ 2
occurred on 2019/06/19 at 23:24:53 - ML—3.9 - RHYP—22.8 km - PGACKO—26.9 cm/s
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Event #836 - occurred on 2019/06/23 at 12:35:30 - ML:2.1 - RHYP:25.1 km - PGACK0:3.2 cm/s?
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Event #837 - occurred on 2019/06/24 at 11:55:37 - ML:2.2 - RHYP:15.6 km - PGACKO:Z.O cm/s?
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Event #838 - occurred on 2019/06/27 at 06:59:20 - ML=3 - RHYP=19.7 km - PGACK0:12.3 cm/s?
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Event #839 - occurred on 2019/07/02 at 06:39:18 - ML:2.7 - RHYP:22.9 km - PGACK0:2.8 cm/s?
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1a. _ _ _ 2
occurred on 2019/07/02 at 07:13:42 - ML—2.6 - RHYP—24.3 km - PGACK0—1.9 cm/s
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Event #841 - occurred on 2019/07/02 at 22:22:53 - ML:2.4 - RHYP:25.1 km - PGACKO:Z.l cm/s?
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Event #842 - occurred on 2019/07/04 at 14:40:13 - ML:2.3 - RHYP:20.7 km - PGACK0:1.6 cm/s?
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Event #843 - occurred on 2019/07/06 at 09:45:38 - ML:2.3 - RHYP:25.3 km - PGACK0:1.6 cm/s?
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Event #844 - occurred on 2019/07/09 at 03:49:10 - ML:3.5 - RHYP:30.8 km - PGACK0:3.2 cm/s?
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Event #845 - occurred on 2019/07/09 at 04:48:48 - ML:3.1 - RHYP:29.6 km - PGACK0:1.8 cm/s?
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Event #846 - occurred on 2019/07/09 at 12:34:32 - ML:3.1 - RHYP:34.2 km - PGACK0:1.2 cm/s?
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Event #847 - occurred on 2019/07/11 at 08:22:43 - ML:3.2 - RHYP:28.7 km - PGACK0:2.8 cm/s?
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Event #848 - occurred on 2019/07/13 at 15:08:43 - ML:4.7 - RHYP:100.2 km - PGACKO=4.3 cm/s?
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occurred on 2019/07/15 at 08:44:13 - ML—3.2 - RHYP—27.1 km - PGACKO—30.3 cm/s
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Event #850 - occurred on 2019/07/17 at 03:40:13 - ML:3.4 - RHYP:79.4 km - PGACK0:1.4 cm/s?
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Event #851 - occurred on 2019/07/18 at 00:23:27 - ML:2.4 - RHYP:23.2 km - PGACK0:1.4 cm/s?
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Event #852 - occurred on 2019/07/18 at 07:26:02 - ML:3.1 - RHYP:30.4 km - PGACK0:1.4 cm/s?

Z [emis?]

0.4

02
0
02
04

-0.6

ASD [ (cm/s2)/Hz1? ]

102
z
E
109) N
102 /
N — —’j
>=Z=
10
102 ' '
109)
AN
102 ’/7 “~
</
107

1 . . . . 104 . .
0.3
102
0.2
0.1
109)
0 was
0.1 102
0.2
0.3 10
0.2
102
0.1
0
o 10
0.1
1072
02 YA~ Z
0.3 104
0 100 200 300 400 101 10° 10t 102
Time [s] Frequency [Hz]

SIN

104

10

10°

104

10

10°

10°

104

10

10°

Pd

10° 10t
Frequency [Hz]



CKWP

CKO

CK6

CK15

CK40

CK83

Event #853 - occurred on 2019/07/18 at 20:48:25 - ML:2.1 - RHYP:24.8 km - PGACK0:1.1 cm/s?
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Event #854 - occurred on 2019/07/21 at 14:11:13 - ML:3 - RHYP=28.5 km - PGACKO=2.6 cm/s?
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Event #855 - occurred on 2019/07/21 at 14:53:07 - ML:3.9 - RHYP:59.3 km - PGACKO:Z.G cm/s?
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Event #856 - occurred on 2019/07/27 at 16:04:24 - ML:2.3 - RHYP:22.4 km - PGACK0:1.2 cm/s?
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Event #857 - occurred on 2019/07/28 at 05:02:53 - ML:3.9 - RHYP:64.4 km - PGACK0:4.0 cm/s?
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Event #858 - occurred on 2019/07/28 at 19:36:09 - ML:2.7 - RHYP:16.8 km - PGACK0:7.9 cm/s?
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Event #859 - occurred on 2019/07/29 at 04:18:10 - ML:3.3 - RHYP:24.9 km - PGACKO:G.Z cm/s?
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Event #860 - occurred on 2019/07/29 at 23:25:04 - ML:2.6 - RHYP:25.4 km - PGACK0:1.1 cm/s?
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Event #861 - occurred on 2019/08/03 at 20:36:20 - ML:2.3 - RHYP:22.1 km - PGACK0:1.5 cm/s?
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0.4

Event #862 - occurred on 2019/08/08 at 03:31:03 - ML:1.8 - RHYP:18.7 km - PGACK0:2.8 cm/s?
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Event #863 - occurred on 2019/08/09 at 21:39:41 - ML:4.6 - RHYP:13O.5 km - PGACKO=1.7 cm/s?
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.20- _ _ _ 2
occurred on 2019/08/13 at 02:40:43 - ML—3 - RHYP—25.9 km - PGACKO—4.9 cm/s

Event #864 -
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Event #865 - occurred on 2019/08/13 at 03:58:38 - ML:2.3 - RHYP:26.O km - PGACK0:1.1 cm/s?
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Event #866 - occurred on 2019/08/14 at 15:27:51 - ML:3.7 - RHYP:87.6 km - PGACK0:2.4 cm/s?
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Event #867 - occurred on 2019/08/16 at 05:34:43 - ML:2.1 - RHYP:13.2 km - PGACK0:2.4 cm/s?
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Event #868 - occurred on 2019/08/27 at 17:27:57 - ML:2.1 - RHYP:18.1 km - PGACK0:1.3 cm/s?
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Event #869 - occurred on 2019/09/06 at 05:43:04 - ML:3.7 - RHYP:70.O km - PGACK0:1.5 cm/s?
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Event #870 - occurred on 2019/09/10 at 10:13:16 - ML:3 - RHYP=26.9 km - PGACKO=1.9 cm/s?
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- occurred on 2019/09/13 at 09:46:51 - ML—2.1 - RHYP—21.8 km - PGACKO—l.O cm/s

Event #871
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Event #872 - occurred on 2019/09/16 at 10:25:48 - ML:3.9 - RHYP:64.8 km - PGACK0:4.6 cm/s?
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Event #873 - occurred on 2019/09/19 at 18:33:16 - ML:4.4 - RHYP:72.6 km - PGACKO:S.G cm/s?
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Event #874 - occurred on 2019/09/20 at 17:49:45 - ML:2.9 - RHYP:22.6 km - PGACK0:3.8 cm/s?
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Event #875 - occurred on 2019/09/24 at 23:38:28 - ML:3.3 - RHYP:33.1 km - PGACK0:3.8 cm/s?
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Event #876 - occurred on 2019/09/24 at 23:43:37 - ML:3 - RHYP=35.2 km - PGACKO=1.7 cm/s?
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Event #877 - occurred on 2019/09/25 at 21:15:43 - ML:3.4 - RHYP:6O.O km - PGACK0:1.1 cm/s?
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Event #878 - occurred on 2019/09/30 at 22:36:58 - ML:2.3 - RHYP:3O.8 km - PGACK0:3.8 cm/s?
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Event #879 - occurred on 2019/10/07 at 10:34:15 - ML:2.9 - RHYP:30.2 km - PGACK0:1.7 cm/s?
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.OR- _ _ _ 2
occurred on 2019/10/08 at 13:06:19 - ML—3.6 - RHYP—21.7 km - PGACKO—19.9 cm/s

Event #880 -
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Event #881 - occurred on 2019/10/11 at 00:58:27 - ML:2.1 - RHYP:20.8 km - PGACKO:Z.O cm/s?
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Event #882 - occurred on 2019/10/11 at 22:43:19 - ML:4.4 - RHYP:64.3 km - PGACK0:3.9 cm/s?
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Event #883 - occurred on 2019/10/11 at 23:35:25 - ML:3.8 - RHYP:68.7 km - PGACK0:3.0 cm/s?
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Event #884 - occurred on 2019/10/12 at 00:01:51 - ML:2.9 - RHYP:]'G'O km - PGACK0:9.3 cm/s?
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0.4

Event #885 - occurred on 2019/10/12 at 06:49:34 - ML:4.2 - RHYP:67.9 km - PGACK0:3.4 cm/s?
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Event #886 - max reccorded on 2019/10/13 at 05:28:36 - no association with catalogue - PGACKO=1.9 cm/s?
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Event #887 - occurred on 2019/10/17 at 08:11:08 - ML:3.3 - RHYP:3O.7 km - PGACK0:3.1 cm/s?
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Event #888 - occurred on 2019/10/29 at 22:02:46 - ML:3.4 - RHYP:34.O km - PGACK0:2.3 cm/s?
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Event #889 -

Z [emis?]

.aq. _ _ _ 2
occurred on 2019/11/14 at 12:33:22 - ML—3 - RHYP—16.2 km - PGACKO—3.1 cm/s
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Event #890 - occurred on 2019/11/15 at 18:06:01 - ML:2.3 - RHYP:16.4 km - PGACK0:3.5 cm/s?
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Event #891 - occurred on 2019/11/19 at 09:50:17 - ML:3.9 - RHYP:50'O km - PGACK0:3.2 cm/s?
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Event #892 - occurred on 2019/11/27 at 07:23:42 - ML:G.l - RHYP:375.1 km - PGACKO=8.7 cm/s?
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Event #893 - occurred on 2019/11/29 at 16:27:12 - ML:3.3 - RHYP:53.6 km - PGACK0:1.7 cm/s?
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Event #894 - occurred on 2019/11/30 at 08:44:57 - ML:2.2 - RHYP:16.4 km - PGACK0:1.3 cm/s?
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Event #895 - max reccorded on 2019/12/01 at 17:51:00 - no association with catalogue - PGACK0=1.9 cm/s?
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Event #896 - occurred on 2019/12/02 at 05:33:14 - ML:2.4 - RHYP:13.2 km - PGACK0:4.7 cm/s?
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Event #897 - occurred on 2019/12/14 at 18:30:21 - ML:3.8 - RHYP:49.7 km - PGACKO:S.l cm/s?
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Event #898 - max reccorded on 2019/12/15 at 02:25:20 - no association with catalogue -
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e _ _ _ 2
occurred on 2019/12/16 at 08:25:26 - ML—3.9 - RHYP—15.9 km - PGACKO—19.7 cm/s

Event #899 -
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Event #900 - occurred on 2019/12/17 at 08:10:45 - ML:3 - RHYP=29.4 km - PGACKO=2.2 cm/s?
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